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dy d’y

Notation: y'=—- andy"=-2
Y= e

—

dr?

Solve the following differential equation: »’ +% y= 5t2, >0, y(H)=1.

Find the solution of the differential equation: y" -4y +4y =e®* + x+1.

Solve the differential equation: y"+5y'+6y = g(t); y(0) = »'(0) =0, with

0= -2 for0<r<3
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Solve the integral equation: f(¢)=2+ I é f(t—a)cos(4a) da.
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Let A, B and C be any 2x2 real matrices. Label the following statements as being true or false

and explain it detail.
(a) If AB=AC, then B=C.
) IfAB=0,thenA=00r B=0.
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Suppose that T': R> — R” is linear operator and that 7(1,0) = (1,4) and T(1,1) = (2,5).

(a) What is 7(2,3)?

(b) Is T one-to-one.

0 -2 -3
Letd=[-1 1 -1|.
2 2 5

(a) Find a matrix P that diagonalizes the matrix 4.

(b) Determine P'AP.

Solve the following system Ax =b by Cramer’s rule.

3x+x, +x, =4
—2x,—-x, =12
X+ 2x,+ x, =8

THE END
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